
SATISH CHANDRA MEMORIAL SCHOOL 

CLASS  V 

MATHS CASE STUDY 

CHAPTER – Tenths and Hundredths  

Just like every day, Smita has come to the market to purchase some vegetables, 

fruits and grocery items. She has purchased 6 kg of rice at Rs 30.50 per Kg, 2 Kg of 

potatoes at Rs 20.50 per Kg, 1 Kg of apples at Rs 50.50 and some stationery items 

for her kids like a notebook, a pencil and two pens costing Rs 23.25, Rs 2.50 and 

Rs 12.50 each respectively. She also bought two candy bars worth Rs 20.50. 

Choose the correct option:- 

1) What will be the cost of 2 Kg of potatoes? 

a) Rs 40 

b) Rs 41 

c) Rs 42 

d) Rs 43 

 

2) What is the total cost of the stationery items like a notebook, a pencil and 

two pens that Smita bought? 

a) Rs 51.25 

b) Rs 50 

c) Rs 50.75 

d) Rs 50.25 

 

3) What is the cost of one candy bar, if two candy bars costs Rs 20.50? 

a) Rs 10.25 

b) Rs 10.50 

c) Rs 10 

d) Rs 11.50 

 

 



4) What is the total cost of 1 Kg of apples and 2 Kg of potatoes? 

a) Rs 90.05 

b) Rs 90.50 

c) Rs 91.05 

d) Rs 91.50 

 

5) What is the total cost of 6 Kg of rice and 2 Kg of potatoes? 

a) Rs 234 

b) Rs 224 

c) Rs 214 

d) Rs 124 

 


